
Pivot/Slide Tube w/ Flip-Up Footplates - A1562
60 Degree MFX and 90 Degree Support Assemblies



Pivot/Slide Tube w/ Flip-Up Footplates - A1562
60 Degree MFX and 90 Degree Support Assemblies

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1026407-NLA NLA - Tube, Pivot/Slide, 60 Degree MFX 1 11
1026681-NLA NLA - Tube, Pivot/Slide, 90 Degree MFX 1 11

1020534 Insert, Threaded 1 12 C
1044078-NLA NLA - Footplate, Black (3-1/4" W x 5-1/4" L) (10" W) 1 13 A
1044082-NLA NLA - Footplate, Black (4-1/4" W x 5-1/4" L) (12" W) 1 13 B
1026152-NLA NLA - Washer (1/4 x 5/8 x 1/32") 1 44

1026108 Lockwasher (1/4 x 15/32 x 1/64") 1 15
1007269 Screw, Socket Button Head (1/4-20 x 5/8") 1 16

1023968-NLA NLA - Screw, Socket Button Head (1/4-20 x 1-7/16") 1 17
1022817-NLA NLA - Block, Hinge 1 18
1012158-NLA NLA - Insert, Lower Slide Tube 1 19 D

1025716 Screw, Phillips Pan Head (#10-32 x 11/16") 1 210
1025195 Locknut (1/4-20) 1 111
1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 112
1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 113

1026408-NLA NLA - Pivot Slide Tube w/ Footplate, Black - Right
(60 Degree MFX)

1 114 A
1026409-NLA NLA - Pivot Slide Tube w/ Footplate, Black - Left (60

Degree MFX)
1 114 A

1026690-NLA NLA - Pivot Slide Tube w/ Footplate, Black - Right
(60 Degree MFX)

1 114 B
1026691-NLA NLA - Pivot/Slide Tube w/ Footplate, Black - Left (60

Degree MFX)
1 114 B

1034342-NLA NLA - Pivot Slide Tube w/ Footplate, Black - Right
(90 Degree MFX)

1 114 B
1034343-NLA NLA - Pivot/Slide Tube w/ Footplate, Black - Left (90

Degree MFX)
1 114 B

A - 10" Wide Chairs  
B - 12-14" Wide Chairs  
C - As of 8/15/03, the Threaded Insert was revised from 3 to 5 Holes. Threaded Insert is Backward Compatible and does not 

require ordering in Pairs.  
D - Part number is no longer available individually. See item 14 and order the complete Pivot Slide Tube w/ Footplate 

Assembly.  

NOTE:

 


